THE DIFFERENTIAL FORMULA OF HASIMOTO TRANSFORMATION IN MINKOWSKI 3-SPACE

NEVIN GÜRBÜZ

Received 3 April 2005 and in revised form 6 June 2005

In this work, the formula is given for the differential of the Hasimoto transformation in Minkowski 3-space.

1. Introduction

Hasimoto [10] introduced the map from vortex filament solutions of Euler's equations for incompressible fluids in the local induction approximation to solutions of the nonlinear Schrödinger equation and he showed vortex filament equation is equivalent nonlinear Schrödinger equation. After this discovering of Hasimoto, several authors [1, 5, 9, 12, 13, 14, 15, 17, 20, 21, 22, 23, 24] studied the connection between the integrable nonlinear Schrödinger equation and the nonstretching vortex filament equation. Ding and Inoguchi also presented this connection in Minkowski 3-space [6, 7, 8].

Langer and Perline derived the formula for the differential of the Hasimoto transformation in 3D spaces [16]. We also present a formula for the differential formula of Hasimoto transformation in Minkowski 3-space in this paper.

Since this construction has potential applications to further investigation using the inverse scattering scheme and finite-gap solutions, much works have been revived by several authors. In recent years, Langer and Perline found a recursion relation which generates the hierarchy of space curve equations which maps by Hasimoto transformation and nonlinear Schrödinger equation [18]. Calini and Ivey [2, 3, 4] studied finite-gap solutions of the vortex filament equation. Holm and Stechmann also investigated vortex solution motion driven by fluid helicity [11].

2. Nonlinear Schrödinger equation

Definition 2.1. The motion of very thin isolated vortex filament X = X(s,t) of incompressible unbounded fluid by its own induction is described asymptotically by

$$\frac{\partial X}{\partial t} = \kappa b, \tag{2.1}$$

Copyright © 2005 Hindawi Publishing Corporation

International Journal of Mathematics and Mathematical Sciences 2005:16 (2005) 2609–2616 DOI: 10.1155/IJMMS.2005.2609

where *s* is the length measured along the filament, *t* the time, κ the curvature, *b* the unit vector in the direction of the binormal [10].

THEOREM 2.2. The binormal motion of timelike curves in the Minkowski 3-space is equivalent to the nonlinear Schrödinger equation (NLS⁻) of repulsive type

$$i\psi_t + \psi^{\prime\prime} - \frac{1}{2} \left| \left\langle \psi, \psi \right\rangle \right|^2 \psi = 0.$$
(2.2)

Proof. The Frenet-Serret formulas for curve γ is given by

$$\begin{bmatrix} T'\\n'\\b' \end{bmatrix} = \begin{bmatrix} 0 & \varepsilon_2 \kappa & 0\\-\varepsilon_1 \kappa & 0 & -\varepsilon_3 \tau\\ 0 & \varepsilon_2 \tau & 0 \end{bmatrix} \begin{bmatrix} T\\n\\b \end{bmatrix},$$
 (2.3)

where $\kappa = \sqrt{|\langle T', T' \rangle|}$ is the curvature of γ , τ is the torsion, and $\langle T, T \rangle = \varepsilon_1$, $\langle n, n \rangle = \varepsilon_2$, $\langle b, b \rangle = \varepsilon_3$ are causal characters of γ . Here are the tangent vector field *T*, binormal vector field *b*, and principal normal vector field *n*.

We consider binormal motion of timelike curves. In this case

$$\varepsilon_1 = -1, \qquad \varepsilon_2 = 1, \qquad \varepsilon_3 = 1; T \times b = -n, \qquad b = T \times n;$$
(2.4)

and the Frenet formula is

$$T' = \kappa n, \qquad n' = \kappa T - \tau b, \qquad b' = \tau n. \tag{2.5}$$

We get binormal motion vortex filament X = X(s, t),

$$T = \frac{\partial X}{\partial t}(s,t) = \kappa(s,t)B(s,t),$$

$$\frac{\partial T}{\partial t}(s,t) = \frac{\partial X}{\partial s\partial t} = \kappa'b + \kappa\tau n,$$
(2.6)

where a prime denotes $\partial/\partial s$.

With differentiating (2.6) as to *s*,

$$\frac{\partial^2 T}{\partial s^2} = \kappa' n + \kappa^2 T - \kappa \tau b.$$
(2.7)

Then

$$\frac{\partial T}{\partial t} = T \times \frac{\partial^2 T}{\partial s^2}.$$
(2.8)

We will show that the binormal motion of unit speed timelike curves is equivalent to the nonlinear Schrödinger equation of repulsive type (NLS⁻).

We get

$$\xi_1 = T, \qquad \xi_2 = (n+ib) \exp\left(-i \int_0^s \tau d\widetilde{s}\right), \qquad \psi = \kappa \exp\left(-i \int_0^s \tau d\widetilde{s}\right). \tag{2.9}$$

Equation (2.5) can be written as follows:

$$\xi_1' = \frac{1}{2} (\overline{\psi} \xi_2 + \psi \overline{\xi_2}), \qquad \xi_2' = \psi \xi_1,$$

$$\frac{\partial \xi_1}{\partial t} = \frac{1}{2} i (\psi' \overline{\xi_2} - \overline{\psi'} \xi_2), \qquad \frac{\partial \xi_2}{\partial t} = -i \psi' \xi_1 + i R \xi_2,$$

(2.10)

where *R* is a real function of *s* and *t*. Let $V = (\xi_1, \xi_2, \xi_3)$ be a pseudo-unitary matrix. We have

$$\frac{\partial}{\partial s} \begin{pmatrix} \xi_1 \\ \xi_2 \\ \overline{\xi_2} \end{pmatrix} = \begin{pmatrix} 0 & \frac{1}{2}\overline{\psi} & \frac{1}{2}\psi \\ \psi & 0 & 0 \\ \overline{\psi} & 0 & 0 \end{pmatrix} \begin{pmatrix} \xi_1 \\ \xi_2 \\ \overline{\xi_2} \end{pmatrix}, \quad V_s = YV,$$

$$\frac{\partial}{\partial t} \begin{pmatrix} \xi_1 \\ \xi_2 \\ \overline{\xi_2} \end{pmatrix} = \begin{pmatrix} 0 & -\frac{1}{2}i\overline{\psi'} & \frac{1}{2}i\psi' \\ -i\psi' & iR & 0 \\ i\overline{\psi'} & 0 & -iR \end{pmatrix} \begin{pmatrix} \xi_1 \\ \xi_2 \\ \overline{\xi_2} \end{pmatrix}, \quad V_t = ZV.$$
(2.11)

The integrability condition $Y_t - Z_t - [Y, Z] = 0$ of (2.10) denotes

$$R' = \frac{1}{2} \left(\overline{\psi'} \psi + \psi' \overline{\psi} \right), \tag{2.12}$$

$$\psi_t - i\psi^{\prime\prime} + iR\psi = 0. \tag{2.13}$$

From (2.12),

$$R = \frac{1}{2} \left(\psi \overline{\psi} + A \right). \tag{2.14}$$

Using (2.14) and (2.13), we obtain

$$i\psi_t + \psi^{\prime\prime} - \frac{1}{2}|\psi|^2\psi = 0.$$
(2.15)

This form is equivalent to the nonlinear Schrödinger equation of repulsive type (NLS⁻). $\hfill\square$

THEOREM 2.3. The binormal motion of spacelike curves in the Minkowski 3-space is equivalent to the nonlinear heat system (see [1])

$$r_t = r_{ss} + r^2 q,$$

$$q_t = -q_{ss} - q^2 r.$$
(2.16)

3. The differential formula in Minkowski 3-space

We get the space of curves with nonvanishing curvature $\Upsilon = \{\gamma : [0,l] \rightarrow R_1^3 : \kappa \neq 0\}$, where $l = \infty$. U = iT + jn + kb is vector field along γ where *i*, *j*, *k* are functions on [0,l]. *U* must satisfy $i' = j\kappa$ for arclength-preserving condition.

We can add on a tangential term for the resulting vector field perserving arclength parametrization. For this reason, we define the linear "normalization operator"

$$\mathcal{N}U = \varepsilon_1 \left(\int_0^s j\kappa du \right) T + jn + kb.$$
(3.1)

Here vector fields are vector fields whose components are expressed as to κ , τ , and their derivatives in Minkowski 3-space.

3.1. The differential of the Hasimoto transformation for timelike curves. For the first time in literature, conclusions of the formula of the differential of the Hasimoto transformation were presented by Langer and Perline [16]. In this paper, we also state conclusions and this formula for the first time in Minkowski 3-space.

Hasimoto transformation will be written as

$$\mathcal{H}(\gamma) = \psi = \kappa \rho, \tag{3.2}$$

where

$$\rho(s) = e^{-i\int_0^s \tau du}.$$
(3.3)

The differential of $\mathcal H$ can be expressed as

$$d\mathcal{H}(U) = \varepsilon_1 \langle \zeta_2, \mathcal{R}^2 U \rangle + ic\psi.$$
(3.4)

 ζ_2 is the complex vector field

$$\zeta_2 = (n+ib)\rho, \tag{3.5}$$

 \Re is the linear "recursion operator" as given by

$$\Re U = \mathcal{N}(T \times U'), \tag{3.6}$$

 \times is the Minkowski cross product, and *c* is a real constant involving boundary terms. Considering brevity, we write the differential formula as follows:

$$d\mathcal{H}(U) \equiv \mathcal{M}(U) = \varepsilon_1 \rho \langle (n+ib), \mathcal{R}^2 U \rangle.$$
(3.7)

We compute differential formula to the field $U = \kappa b$. Thus

$$U' = \kappa' b + \kappa \tau N,$$

$$T \times U' = \kappa' T \times b + \kappa \tau T \times n.$$
(3.8)

From (2.4),

$$T \times U' = -\kappa' n + \kappa \tau b,$$

$$\mathcal{R}U = \mathcal{N}(T \times U') = \frac{1}{2}\kappa^2 T - \kappa' n + \kappa \tau b.$$
(3.9)

Continuing,

$$(\Re U)' = \left(\frac{1}{2}\kappa^3 - \kappa'' + \kappa\tau^2\right)n + (2\kappa'\tau + \kappa\tau')b,$$

$$T \times (\Re U)' = \left(\frac{1}{2}\kappa^3 - \kappa'' + \kappa\tau^2\right)T \times n + (2\kappa'\tau + \kappa\tau')T \times b.$$
(3.10)

From (2.4),

$$T \times (\mathcal{R}U)' = \left(\frac{1}{2}\kappa^3 - \kappa'' + \kappa\tau^2\right)b - (2\kappa'\tau + \kappa\tau')n,$$

$$\mathcal{R}^2 U = -\frac{1}{2}\kappa^2\tau T - (2\kappa'\tau + \kappa\tau')n + \left(\frac{1}{2}\kappa^3 + \kappa'' - \kappa\tau^2\right)b,$$
(3.11)

and as result

$$\mathcal{M}(U) = \rho \bigg[\left(2\kappa' \tau + \kappa\tau' \right) - i \bigg(\frac{1}{2} \kappa^3 - \kappa'' + \kappa\tau^2 \bigg) \bigg].$$
(3.12)

We can give some results of this formula. First, differentiating $\psi = \kappa \rho$, one gets

$$\psi' = \rho(\kappa' - i\kappa\tau),$$

$$\psi'' = \rho[(\kappa'' - \kappa\tau^2) - i(2\kappa'\tau + \kappa\tau')].$$
(3.13)

The filament flow $y_t = U$ induces a flow on ψ satisfying

$$i\psi_t + \psi^{\prime\prime} - \frac{1}{2} \left| \left\langle \psi, \psi \right\rangle \right|^2 \psi = 0.$$
(3.14)

This form is equivalent to (2.15), the nonlinear Schrödinger equation of repulsive type.

3.2. The differential of the Hasimoto transformation for spacelike curves. The Hasimoto transformation is given by

$$\mathscr{H}_i(\gamma) = \kappa \rho_i, \quad i = 1, 2, \tag{3.15}$$

where the differential of ${\mathcal H}$ can be expressed as

$$d\mathcal{H}_i(U) = \varepsilon_1 \langle \zeta_{i+1}, \mathcal{R}^2 U \rangle, \quad i = 1, 2,$$

$$\zeta_1 = T, \qquad \zeta_2 = (n+b)\rho_1, \qquad \zeta_3 = (n-b)\rho_2,$$
(3.16)

where

$$\rho_1(s) = \exp\left(-\int_0^s \tau \, du\right),$$

$$\rho_2(s) = \exp\left(\int_0^s \tau \, du\right),$$
(3.17)

and finally we formula can be written as

$$d\mathcal{H}_i(U) \equiv \mathcal{M}_i(U) = \varepsilon_1 \langle \zeta_{i+1}, \mathcal{R}^2 U \rangle, \quad i = 1, 2.$$
(3.18)

We compute the differential formula for vector field $U = \kappa b$. Thus

$$U' = \kappa' b + \kappa \tau n,$$

$$T \times U' = \kappa' T \times b + \kappa \tau T \times n.$$
(3.19)

Since

$$T \times b = -\varepsilon_{3}n \quad b = \varepsilon_{2}T \times n,$$

$$T \times U' = \kappa' n + \kappa \tau b,$$

$$\Re U = \mathcal{N}(T \times U') = \frac{1}{2}\kappa^{2}T + \kappa' n + \kappa \tau b,$$

$$(\mathfrak{R}U)' = \left(\frac{1}{2}\kappa^{3} + \kappa'' + \kappa \tau^{2}\right)n + (2\kappa'\tau + \kappa\tau')b,$$

$$T \times (\mathfrak{R}U)' = \left(\frac{1}{2}\kappa^{3} + \kappa'' + \kappa \tau^{2}\right)T \times n + (2\kappa'\tau + \kappa\tau')T \times b.$$
(3.20)

From (3.20),

$$\mathscr{R}^{2}U = T \times (\mathscr{R}U)' = \dots + \left(\frac{1}{2}\kappa^{3} + \kappa'' + \kappa\tau^{2}\right)b + (2\kappa'\tau + \kappa\tau')n, \qquad (3.21)$$

and as result

$$\mathcal{M}_{1}(U) = \varepsilon_{1}\rho_{1}\langle (n+b), \mathcal{R}^{2}U \rangle = \rho_{1}\left(2\kappa'\tau + \kappa\tau' - \kappa'' - \kappa\tau^{2} - \frac{1}{2}\kappa^{3}\right),$$

$$\mathcal{M}_{2}(U) = \varepsilon_{1}\rho_{2}\langle (n-b), \mathcal{R}^{2}U \rangle = \rho_{2}\left(2\kappa'\tau + \kappa\tau' + \kappa'' + \kappa\tau^{2} + \frac{1}{2}\kappa^{3}\right).$$

(3.22)

We can give some results of this formula : with differentianting $q = \kappa \rho_1$ and $r = \kappa \rho_2$, we obtain

$$r' = r_{s} = \rho_{2}(\kappa' + \kappa\tau),$$

$$q' = q_{s} = \rho_{1}(\kappa' - \kappa\tau),$$

$$r'' = r_{ss} = \rho_{2}[(\kappa'' + \kappa\tau^{2} + 2\kappa'\tau + \kappa\tau')],$$

$$q'' = q_{ss} = \rho_{1}[(\kappa'' + \kappa\tau^{2} - 2\kappa'\tau - \kappa\tau')].$$
(3.23)

We conclude that the filament flow $\gamma_t = U$ induces a flow on *q* and *r* satisfying

$$r_t = d\mathcal{H}_1(U) = r_{ss} + r^2 q,$$

$$q_t = d\mathcal{H}_2(U) = -q_{ss} - q^2 r.$$
(3.24)

This form is equivalent to the nonlinear heat equation (2.16).

References

- [1] R. L. Bishop, *There is more than one way to frame a curve*, Amer. Math. Monthly **82** (1975), 246–251.
- [2] A. Calini, *Recent developments in integrable curve dynamics*, Geometric Approaches to Differential Equations (Canberra, 1995), Austral. Math. Soc. Lect. Ser., vol. 15, Cambridge University Press, Cambridge, 2000, pp. 56–99.
- [3] A. Calini and T. Ivey, *Knot types, Floquet spectra, and finite-gap solutions of the vortex filament equation*, Math. Comput. Simulation **55** (2001), no. 4-6, 341–350.
- [4] _____, Finite-gap solutions of the Vortex Filament Equation, I, to appear in J. Nonlinear Sci., http://arxiv.org/abs/nlin.SI/0411065.
- [5] S. S. Chern and K. Tenenblat, *Pseudospherical surfaces and evolution equations*, Stud. Appl. Math. 74 (1986), no. 1, 55–83.
- [6] Q. Ding, A note on the NLS and the Schrödinger flow of maps, Phys. Lett. A 248 (1998), 49–56.
- [7] _____, The gauge equivalence of the NLS and the Schrödinger flow of maps in 2 + 1 dimensions, J. Phys. A 32 (1999), no. 27, 5087–5096.
- [8] Q. Ding and J.-I. Inoguchi, Schrödinger flows, binormal motion for curves and the second AKNShierarchies, Chaos Solitons Fractals 21 (2004), no. 3, 669–677.
- [9] A. P. Fordy and P. P. Kulish, Nonlinear Schrödinger equations and simple Lie algebras, Comm. Math. Phys. 89 (1983), no. 3, 427–443.
- [10] H. Hasimoto, A soliton on a vortex filament, J. Fluid Mech. 51 (1972), 477–485.
- [11] D. Holm and S. Stechmann, Hasimoto transformation and vortex soliton motion driven by fluid helicity, preprint, 2004, http://arxiv.org/abs/nlin.SI/0409040.
- [12] A. R. Īts and V. P. Kotljarov, Explicit formulas for solutions of a nonlinear Schrödinger equation, Dokl. Akad. Nauk Ukrain. SSR Ser. A (1976), no. 11, 965–968, 1051 (Russian).
- [13] S. Kida, A vortex filament moving without change of form, J. Fluid Mech. 112 (1981), 397–409.
- M. Lakshaman, Continuum spin system as an exactly solvable dynamical system, Phys. Lett. A 61 (1977), 53–54.
- [15] G. L. Lamb Jr., *Elements of Soliton Theory*, Pure and Applied Mathematics, John Wiley & Sons, New York, 1980.
- [16] J. Langer and R. Perline, The Hasimoto transformation and integrable flows on curves, Appl. Math. Lett. 3 (1990), no. 2, 61–64.
- [17] _____, The filament equation, the Heisenberg model, and the non-linear Schrödinger equation, Fields Institute Communications, Mechanics Day, American Mathematical Society, Rhode Island, 1996, pp. 181–188.
- [18] _____, Geometric realizations of Fordy-Kulish nonlinear Schrödinger systems, Pacific J. Math. 195 (2000), no. 1, 157–178.
- [19] B. O'Neill, Semi-Riemannian Geometry, Pure and Applied Mathematics, vol. 103, Academic Press, New York, 1983.
- [20] C. Rogers and W. K. Schief, Intrinsic geometry of the NLS equation and its auto-Bäcklund transformation, Stud. Appl. Math. 101 (1998), no. 3, 267–287.
- [21] R. Sasaki, Soliton equations and pseudospherical surfaces, Nuclear Phys. B 154 (1979), no. 2, 343–357.

- [22] W. K. Schief and C. Rogers, Binormal motion of curves of constant curvature and torsion. Generation of soliton surfaces, R. Soc. Lond. Proc. Ser. A Math. Phys. Eng. Sci. 455 (1999), no. 1988, 3163–3188.
- [23] V. E. Zakharov and A. B. Shabat, Exact theory of two-dimensional self-focusing and onedimensional self-modulation of waves in nonlinear media, Soviet Physics JETP 34 (1972), no. 1, 62–69 (Russian).
- [24] V. E. Zakharov and L. A. Takhtajan, *Equivalence of the nonlinear Schrödinger equation and the equation Heisenberg-ferromagnet*, Theoret. and Math. Phys. **38** (1979), 17–23.

Nevin Gürbüz: Department of Mathematics, Osmangazi University, 26480 Eskişehir, Turkey *E-mail address*: ngurbuz@ogu.edu.tr